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B.Com. Semester I (Honours) Examination, 2018-19 

COMMERCE 

 Course Id : 11211  Course Code : BCOMH-101C-1 

Course Title : Financial Accounting-I 

  Time:  2 Hours  Full Marks:  40 

The figures in the margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›î û#ÇþyíÅ#öì̃ î û ëíy¤½þî !löì?îû èþy£ìyëû ’þz_î û !˜öì•þ ¥öìîÐ 

 1. Answer any five questions: 2×5=10 

  ˆÎ ˆÑ˛y Ï̂òy ˛ô§yâ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) What is Accommodation Bill? 

    ¢y£yÎƒÑ˛yÓ#̊ ˝!u˛ Ñ˛#⁄ 

  (b) What do you mean by Capital Expenditure? 

    Úõ)úïò ãyì˛#Î̊ ÓƒÎ̊Û ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

  (c) Mention two causes for charging depreciation. 

    xÓâ˛Î̊ ïyÎ≈ Ñ˛ÓẙÓ ̊î%!›˛ Ñ˛yÓí̊ v˛ ẑ ÏÕ‘Ö Ñ˛ˆÏÓẙ– 

  (d) What do you mean by fictitious asset? 

    xú#Ñ˛ ¢¡ô!_ ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

  (e) What is entity concept? 

    ¢_y ¢Çe´yhs˛ ïyÓí̊y Ñ˛#⁄ 

   (f) What is meant by ‘cash basis of accounting’? 

    ÚòÜî !¶˛!_Ñ˛ !£¢yÓÓ˚«˛íÛ ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

   (g) What is Accounting Equation? 

    !£¢yÓ ¢Çe´yhs˛ ¢õ#Ñ˛Óí̊ Ñ˛#⁄ 

  (h) Why is Income and Expenditure Account prepared? 

    Income and Expenditure Account ˆÑ˛ò ≤Ãlfl˛ì˛ Ñ˛Óẙ £Î̊⁄ 

 2. Answer any four questions: 5×4=20 

  ˆÎ ˆÑ˛y Ï̂òy â˛yÓ!̊›˛ ≤Ã Ï̂Ÿ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) Distinguish between Capital Expenditure and Revenue Expenditure. 

    õ)úïòãyì˛#Î ̊ÓƒÎ̊ Á õ%òyö˛yãyì˛#Î̊ ÓƒˆÏÎÓ̊ ̊õˆÏïƒ ˛ôyÌ≈Ñ˛ƒ ˆîÖyÁ– 
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  (b) On mutual and temporary accommodation, Ram draws a bill for Rs. 5,000 on 1st January 

2018 for three months on Rahim. Rahim accepts the bill on the same day and sends it to Ram. 

Ram discounts the bill immediately at his Bank by paying a discount charge of 6% p. a. and 

hands over  rd of the Proceeds to Rahim. On the due date Rahim pays the bill having 

received from Ram the amount due from him. 

    Show the necessary journal entries in the Books of Ram.  

  (c) Distinguish between ‘Straight Line Method’ and ‘Diminishing Balance Method’ for charging 

depreciation. 

    xÓâ˛Î̊ ïyˆÏÎ≈Ó ̊ãòƒ Ú!fl˛iÓ ̊!Ñ˛!hfl˛ ˛ôk˛!ì˛Û Á Úe´õ£…y¢õyò ˆãÓ ̊˛ôk˛!ì˛ÛÓ ̊õˆÏïƒ ˛ôyÌ≈Ñ˛ƒ Ñ˛ˆÏÓẙ– 

  (d) From the following particulars prepare a Bank Reconciliation Statement as on 30.06.2018: 

     (i) Bank Balance as per Cash Book on 30.06.2018: Rs. 6,250; 

     (ii) Cheques deposited into Bank but not yet credited in Pass Book: Rs. 2,700; 

     (iii) Cheques issued total of Rs. 5,800 but only Rs. 3,750 presented to Bank for payment 

within 30.06.2018; 

     (iv) Dividend collected by Bank but not recorded in Cash Book: Rs. 350; 

     (v) Bank charges recorded twice in Cash Book for Rs. 125. 5 

  (e) Distinguish between ‘Cash Basis of Accounting’ and Accrual Basis of Accounting. 

    òÜî !¶˛!_Ñ˛ !£¢yÓÓ˚«˛í ˛ôk˛!ì˛ Á ≤Ãy˛ôƒ Á ≤Ã Ï̂îÎ̊ !¶˛!_Ñ˛ !£¢yÓÓ ˚«˛í ˛ôk˛!ì˛Ó ̊õˆÏïƒ ˛ôyÌ ≈Ñ˛ƒ ˆîÖyÁ– 

   (f) The book value of Plant and Machinery of a firm on 1st January 2017 shows Rs. 2,00,000. 

The same includes a machine which was purchased on 1st January 2012 at Rs. 20,000. This 

was sold on 30th June 2017 for Rs. 10,000. In place of this, another machine was purchased 

for Rs. 25,000 on 30th September 2017. 

    Show the Plant and Machinery A/c for the year ended 31st December 2017 by charging 

depreciation @10% p. a. on diminishing balance method. 5 

 3. Answer any one question: 10×1=10 

  ˆÎ ˆÑ˛y Ï̂òy ~Ñ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

   (a) Bull and Bear entered into a joint venture to share profits and losses in the ratio 3 : 2 for 

underwriting shares of XYZ & Co.Ltd. The company agreed to pay a commission of 5% in 

cash and to issue 5,000 shares @ Rs. 10 each fully paid up. 

     The company offered 100000 shares @ Rs. 10 each to the public. Applications were received 

for 90000 shares from the public. The short subscription was financed by Bull and  
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Bear in their profit sharing ratio. In addition, expenses were incurred by Bull Rs. 10,000 and 

Bear Rs. 12,000. 

     On completion of the contract, the company issued the shares to venturers and also paid the 

commission. The shares held by them were sold in the market as under: 

       50% @ Rs. 9 per share 

       20% @ Rs. 8 per share 

     The remaining shares were taken by Bull and Bear equally at Rs. 8 per share. 

     Prepare Joint Venture A/c, Joint Bank A/c and Venturer’s Capital A/c for the above. 

   (b)  (i) Explain, in brief, the errors not disclosed in Trial Balance. 

       ˆÓÁ̊Î̊y!õˆÏú ≤ÃÑ˛y!üì˛ £Î ̊òyñ ~Ó*̊˛ô ¶%̨ ú=!ú ¢ÇˆÏ«˛ˆĮ̈ ô Óí≈òy Ñ˛ˆÏÓẙ– 

     (ii) Distinguish between Bill of Exchange and Promissory note. 5+5=10 

      Óy!í!ãƒÑ˛ ˝!u˛ Á ≤Ã!õ¢!Ó ̊ˆòyˆÏ›˛Ó ̊õˆÏïƒ ˛ôyÌ≈Ñ˛ƒ ˆîÖyÁ– 

__________ 
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COMMERCE 

 Course Id : 11212  Course Code : BCOMH-102C-2 

Course Title : Business Mathematics 

  Time:  2 Hours  Full Marks:  40 

The figures in the margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

 1. Answer any five questions: 2×5=10 

  (a) The n-th term of an A.P. series is 5n-1. Find the sum of the first 10 terms of this A.P. 

  (b) If ܣ = ܤ ,{1,2,3} = {3,4,5,6} and ܥ = {1,2,7,5}, find ሺܣ ∪ ሻܤ ∩  .ܥ

  (c) If ସܲ௡ = 20 × ଶܲ௡ , find n. 

  (d) Prove without expanding อݔ + ݕ ݕ + ݖ ݖ + ݖݔ ݔ 1ݕ 1 1 อ = 0. 

  (e) Show that the matrix A is skew-symmetric, where ܣ =	 ൥			0 −3 −7+3 			0 			9			7 −9 			0൩ 
   (f) Find the domain of the function ݂ሺݔሻ = ݔ√ − 1 +	√5 −  . ݔ

   (g) If ݑ = ݔ show that ,ݖݕݔ డ௨డ௫ = ݕ డ௨డ௬ = ݖ డ௨డ௭ . 

  (h) Evaluate ׬ ൫√3ݔ + 1൯ଵ଴  .ݔ݀

 2. Answer any four questions: 5×4=20 

  (a)  (i) Find the sum of the series: 3 + 33 + 333 + 3333 + ... upto n terms. 

     (ii) Show that 
୪୭୥ೌ ௫୪୭୥ೌ್ ௫ = 	 log௔ ܾ + 1 3+2=5  

  (b)  (i) Evaluate Lt௫→଴	√ଵା௫ି√ଵି௫௫ . 

     (ii) If ܽ, ܾ, ܿ are in G.P. and ܽଵ ௫ൗ = 	ܾଵ ௬ൗ = 	 ܿଵ ௭ൗ  then show that ݔ, ,ݕ   3+2=5	are in A.P. ݖ

  (c) Prove that, อܽ − ܾ − ܿ 2ܽ 2ܽ2ܾ ܾ − ܿ − ܽ 2ܾ2ܿ 2ܿ ܿ − ܽ − ܾอ = ሺܽ + ܾ + ܿሻଷ. 5 

  (d)  (i) Find the value of ݇ for which ݂ሺݔሻ = ቄ		ݔ − ݔ			ℎ݁݊ݓ					1 ≥ ݔ2݇ + ݔ			ℎ݁݊ݓ				5 < 2 is continuous at ݔ = 2. 

     (ii) Find 
ௗ௬ௗ௫	, if ݕ =  ௫. 3+2=5ݔ
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  (e)  (i) If ݕ = 3݁ଶ௫ + 5݁ିଷ௫, find 
ௗ௬ௗ௫ . 

     (ii) Evaluate ׬ ଶ௫యሺ௫మାଵሻయ  5=3+2 .ݔ݀	

   (f) Solve the system of equations by Cramer’s rule. 

    
ݔ								 + ݕ2 + ݖ3 = ݔ4						2 + ݕ3 + ݖ4 = ݔ3						6 + 	ݕ		 − ݖ2 = 7 5 

 3. Answer any one question: 10×1=10 

   (a)  (i) If ܣ = 	 ቂ			3 1−1 2ቃ, show that ܣଶ − ܣ5 + ܫ7 = 0. 

      (ii) In how many ways can a committee of 3 members be formed from 5 men and 2 women 

so that at least one woman is to be included in the committee. 

      (iii) If ܣ = {1,2,3}, ܤ = {1,2,3,4}, ܥ = {3,4,5,6,7} and the universal set ܷ = {1,2,3,4,5,6,7,8}, then prove that ܣᇱ ∩ ᇱܤ = ሺܣ ∪  ’′‘ ሻᇱ, where the superscriptܤ
denotes the complement of a set. 3+4+3=10 

 

   (b)  (i) Find the inverse of the matrix ܣ, where ܣ = ൥2 			3 11 			1 15 −1 10൩ 
      (ii) Show that the maximum value of ݔ + ଵ௫ is less than its minimum value. 

      (iii) Show that ݂ሺݔ, ሻݕ = 	 ௫యା௬య௫ି௬  is a homogeneous function of degree 2. 5+3+2=10 

__________ 
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COMMERCE 

 Course Id : 11214  Course Code : BCOMH-103GE-1 

Course Title : Management Theory 

  Time:  2 Hours  Full Marks:  40 

The figures in the margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›î û#ÇþyíÅ#öì̃ î û ëíy¤½þî !löì?îû èþy£ìyëû ’þz_î û !˜öì•þ ¥öìîÐ 

 1. Answer any five from the following questions: 2×5=10 

  ò#ˆÏâ˛Ó ̊≤ÃŸ¿=!ú ˆÌˆÏÑ˛ ˆÎ ˆÑ˛y Ï̂òy ˛ô§yâ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) What is Scientific Management? 

    ˜ÓK˛y!òÑ˛ ÓƒÓfl˛iy˛ôòy Ñ˛#⁄ 

  (b) What is Managerial Ethics? 

    ÓƒÓfl˛iy˛ôòy ¢Çe´yhs˛ ˜ò!ì˛Ñ˛ì˛y Ñ˛#⁄ 

  (c) What do you mean by PODSCORB? 

    PODSCORB ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

  (d) What is meant by derivative planning? 

    ¢£yÎ̊Ñ˛ ˛ô!ÓÑ̊˛“òy ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

  (e) What is Morale? 

    õˆÏòyÓú Ñ˛#⁄ 

   (f) What do you mean by departmentation? 

    !Ó¶˛yÜ#Î˚Ñ˛Óí̊ ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

   (g) What is ‘free-rein’ leadership? 

    ÚxÓ!ï ˆòì,̨ cÛ Ñ˛#⁄ 

  (h) What do you mean by Man-power Planning? 

    õò%°Ïƒü!_´ ˛ô!ÓÑ̊˛“òy ÓúˆÏì˛ Ñ˛# ˆÓy Ï̂G˛y⁄ 

 2. Answer any four questions: 5×4=20 

  ˆÎ ˆÑ˛y Ï̂òy â˛yÓ!̊›˛ ≤Ã Ï̂Ÿ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) Explain the various steps involved in the formulation of planning. 

    ˛ô!ÓÑ̊˛“òy ≤Ãlfl˛ì˛Ñ˛Óí̊ ≤Ã!e´ÎẙÓ ̊!Ó!¶˛ß̈ ïy˛ô=!ú ÓƒyÖƒy Ñ˛ˆÏÓẙ– 
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  (b) Discuss the importance of planning.  

    ˛ô!ÓÑ̊˛“òyÓ ̊=Ó˚&c xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

  (c) What are the ingredients of good leadership? 

    v˛ z_õ ˆòì,̨ ˆÏcÓ ̊v˛ z̨ ôyîyò ¢õ)£ Ñ˛# Ñ˛#⁄ 

  (d) Explain the basic steps in control. 

    !òÎ̊s˛fí ÓƒÓfl˛iyÓ ̊õ)ú ˛ôîˆÏ«˛˛ô=!ú ÓƒyÖƒy Ñ˛ˆÏÓẙ– 

  (e) Discuss the main functions of staffing. 

    Ñ˛õ#≈̨ ôî ˛ô)Ó ˚̂ ÏíÓ ̊≤Ãïyò Ñ˛yÎ≈yÓ!ú xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

   (f) Explain the relationship between Motivation and Morale. 

    xò%≤Ãy!íì˛Ñ˛Óí̊ Á õˆÏòyÓˆÏúÓ ̊˛ôyÓ˚fl˛ô!ÓÑ̊˛ ¢¡ôÑ ≈̨  ÓƒyÖƒy Ñ˛ˆÏÓẙ– 

 3. Answer any one question: 10×1=10 

  ˆÎ ˆÑ˛y Ï̂òy ~Ñ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

   (a) Define Profession. Is management a profession? 

     ˆ˛ôüyÓ ̊¢ÇK˛y îyÁ– ÓƒÓfl˛iy˛ôòy Ñ˛# ~Ñ˛!›˛ ˆ˛ôüy⁄ 

   (b) Narrate Douglas Mc Gregor’s Theory X and Theory Y. 

     v˛Üúy¢ õƒyÑ‰̨ ˆÏ@˘ÃÜˆÏÓÓ̊ ̊X ì˛_¥ ~ÓÇ Y ì˛_¥!›˛ Óí≈òy Ñ˛ˆÏÓẙ– 

__________ 
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COMMERCE 

 Course Id : 11218  Course Code : BCOMP-101C-1A 

Course Title : Management Theory 

  Time:  2 Hours  Full Marks:  40 

The figures in the margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›î û#ÇþyíÅ#öì̃ î û ëíy¤½þî !löì?îû èþy£ìyëû ’þz_î û !˜öì•þ ¥öìîÐ 

 1. Answer any five of the following questions: 2×5=10 

  ò#ˆÏâ˛Ó ̊ˆÎ ˆÑ˛y Ï̂òy ˛ô§yâ˛!›˛ ≤Ã Ï̂Ÿ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) What is MBO? 

    MBO  Ñ˛y Ï̂Ñ˛ ÓˆÏú⁄ 

  (b) How many levels are in management and what are they? 

    ÓƒÓfl˛iy˛ôòyÓ ̊Ñ˛Î̊!›˛ hfl˛Ó ̊xyˆÏäÈ Á Ñ˛# Ñ˛#⁄ 

  (c) What do you mean by Universality of Management? 

    ÓƒÓfiÌy˛ôòyÓ ̊¢yÓ≈ãò#òì˛y ÓúˆÏì˛ Ñ˛# ˆÓyˆÏG˛y⁄ 

  (d) What is manpower planning? 

    õò%°Ïƒü!_´ ˛ô!ÓÑ̊˛“òy Ñ˛#⁄ 

  (e) Define Staffing. 

    Ñ˛õ#≈̨ ôî ˛ô)Ó ˚̂ ÏíÓ ̊¢ÇK˛y îyÁ– 

   (f) Give the definition of morale. 

    õˆÏòyÓˆÏúÓ ̊¢ÇK˛y îyÁ– 

   (g) What is leadership? 

    ˆòì,˛c Ñ˛y Ï̂Ñ˛ ÓˆÏú⁄ 

  (h) Who is the father of scientific management? 

    ˜ÓK˛y!òÑ˛ ÓƒÓfl˛iy˛ôòyÓ ̊ãòÑ˛ ˆÑ˛⁄ 

 2. Answer any four of the following questions: 5×4=20 

  ò#ˆÏâ˛Ó ̊ˆÎ ˆÑ˛y Ï̂òy â˛yÓ!̊›˛ ≤Ã Ï̂Ÿ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) Discuss the importance of planning. 

    ˛ô!ÓÑ̊˛“òyÓ ̊=Ó˚&c xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 
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  (b) Explain the importance of management. 

    ÓƒÓfl˛iy˛ôòyÓ ̊=Ó˚&c xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

  (c) What are the ingredients of good leadership? 

    v˛ z_õ ˆòì,̨ ˆÏcÓ ̊Ñ˛# Ñ˛# =í ÌyÑ˛y îÓÑ̊˛yÓ⁄̊ 

  (d) Discuss the importance of control. 

    !òÎ̊s˛fˆÏíÓ ̊=Ó&̊c xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

  (e) Clarify in brief the Maslow’s Hierarchy of Needs Theory. 

    õƒy¢‰̂ ÏúyÓ ̊≤ÃˆÏÎ̊yãˆÏòÓ ̊e´õhfl˛Ó ̊ì˛c ¢ÇˆÏ«˛ˆĮ̈ ô Ó%!G˛ˆÏÎ̊ îyÁ– 

   (f) Discuss the principal methods of staff training. 

    Ñ˛õ#≈ ≤Ã!ü«˛ˆÏíÓ ̊≤Ãïyò ≤Ãïyò ˛ôk˛!ì˛=!ú xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

 3. Answer any one of the following questions: 10×1=10 

  ò#ˆÏâ˛Ó ̊ˆÎ ˆÑ˛y Ï̂òy ~Ñ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

   (a) Is management an art or a science or both? — Discuss. 

     ÓƒÓfl˛iy˛ôòy Ñ˛úy òy !ÓK˛yò òy v˛ z¶˛Î̊£z– — xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

   (b) Explain the features of a good planning. 

     ~Ñ˛!›˛ ¶˛yˆÏúy ˛ô!ÓÑ̊˛“òyÓ ̊˜Ó!ü‹Tƒ=!ú xyˆÏúyâ˛òy Ñ˛ˆÏÓẙ– 

__________ 
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COMMERCE 

 Course Id : 11219  Course Code : BCOMP-102C-2A 

Course Title : Indian Economic Problems 

  Time:  2 Hours  Full Marks:  40 

The figures in the margin indicate full marks. 

  Candidates are required to give their answers in their own words 
as far as practicable. 

˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›î û#ÇþyíÅ#öì̃ î û ëíy¤½þî !löì?îû èþy£ìyëû ’þz_î û !˜öì•þ ¥öìîÐ 

 1. Answer any five questions: 2×5=10 

  ˆÎ ˆÑ˛y Ï̂òy ˛ô§yâ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) What is unemployment? 

    ˆÓÑ˛yÓc̊ Ñ˛y Ï̂Ñ˛ ÓˆÏú⁄ 

  (b) Mention two problems of rural credit system. 

    @˘Ãyõ#í }í ÓƒÓfl˛iyÓ ̊î%!›˛ ¢õ¢ƒy v˛ zˆÏÕ‘Ö Ñ˛ˆÏÓẙ– 

  (c) What is Privatisation? 

    ˆÓ¢ÓÑ̊˛y!Ó˚Ñ˛Óí̊ Ñ˛yˆÏÑ˛ ÓˆÏú⁄ 

  (d) Write down the full form of GST. 

    GST ÈÙÈÓ ̊¢¡ô)í≈ xÌ ≈ ˆúˆÏÖy– 

  (e) What is mixed economy? 

    !õ◊ xÌ≈ò#!ì˛ Ñ˛#⁄ 

   (f) Mention two objectives of planning. 

    ˛ô!ÓÑ̊˛“òyÓ ̊î%!›˛ v˛ ẑ Ïjüƒ ˆúˆÏÖy– 

   (g) Mention two problems of increase in population. 

    ãò¢ÇÖƒy Ó,!k˛Ó ̊î%!›˛ ¢õ¢ƒy ˆúˆÏÖy– 

  (h) What is National Income? 

    ãyì˛#Î ̊xyÎ̊ Ñ˛yˆÏÑ˛ ÓˆÏú⁄ 
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 2. Answer any four questions: 5×4=20 

  ˆÎ ˆÑ˛y Ï̂òy â˛yÓ!̊›˛ ≤Ã Ï̂Ÿ¿Ó ̊v˛ z_Ó ̊îyÁ É 

  (a) Distinguish between Capitalistic economy and Socialistic economy. 

    ïòì˛y!s˛fÑ˛ Á ¢õyãì˛y!s˛fÑ˛ xÌ≈ÓƒÓfl˛iyÓ ̊õˆÏïƒ ˛ôyÌ≈Ñ˛ƒ ˆúˆÏÖy– 

  (b) Discuss the functions of RBI. 

    ¶˛yÓì̊˛#Î ̊!Óã̊y¶≈̨  ÓƒyˆÏB˛Ó ̊Ñ˛yÎ ≈yÓú# v˛ ẑ ÏÕ‘Ö Ñ˛ˆÏÓẙ– 

  (c) Discuss the role of foreign investment in Indian economy. 

    ¶˛yÓì̊˛#Î ̊xÌ≈ò#!ì˛ˆÏì˛ ˜ÓˆÏî!üÑ˛ !Ó!òˆÏÎ̊yˆÏÜÓ ̊¶)̨ !õÑ˛y xyˆÏúyâ˛òy Ñ˛ˆÏÓ˚y– 

  (d) Mention the problems of Banking sector in India. 

    ¶˛yÓ ˚̂ Ïì˛ Óƒy!B˛Ç ˆ«˛ˆÏeÓ ̊¢õ¢ƒy=!ú v˛ ẑ ÏÕ‘Ö Ñ˛ˆÏÓ˚y– 

  (e) Discuss the sectorial changes in Indian National Income. 

    ¶˛yÓì̊˛#Î ̊ãyì˛#Î̊ xyˆÏÎÓ̊ ̊ˆ«˛eÜì˛ ˛ô!ÓÓ̊ì≈̨ò=!ú ˆúˆÏÖy– 

   (f) Write the role of RRBs (Regional Rural Banks) in rural development of India. 

    ¶˛yÓ ˚̂ Ïì˛Ó ̊@˘Ãyõ#í v˛ zß̈Î ˚̂ Ïò RRB-Ó˚ ¶)̨ !õÑ˛y ˆúˆÏÖy– 

 3. Answer any one question: 10×1=10 

  ˆÎ ˆÑ˛y Ï̂òy ~Ñ˛!›˛ ≤ÃˆÏŸ¿Ó ̊v˛ z_Ó ̊îyÁ É 

   (a) What is Balance of Payment? Explain the impact of Globalisation in Indian economy. 2+8=10 

     Óƒyúy™ xÓ ˆ˛ôˆÏõr›˛ Ñ˛y Ï̂Ñ˛ ÓˆÏú⁄ ¶˛yÓ ˚̂ Ïì˛Ó ̊xÌ≈ò#!ì˛ˆÏì˛ !ÓŸªyÎ̊ˆÏòÓ ̊ ≤Ã¶˛yÓ ˆúˆÏÖy– 

   (b) Explain the measures taken by the Govt. of India for the eradication of poverty. 

     îy!Óo̊ì˛y î)Ó#̊Ñ˛Ó ˚̂ ÏíÓ ̊ãòƒ ¶˛yÓì̊˛ ¢ÓÑ̊˛yÓ ̊Ñ˛ì≈,̨ Ñ˛ Ü,£#ì˛ ÓƒÓfl˛iy¢õ)£ ÓƒyÖƒy Ñ˛ˆÏÓẙ– 

__________ 
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